Sr Questions Answers Choice

. Air Transport

. Water transport
. Rail Transport
. All of these

1 Transport has large load capacity

. Two

. Three
. Four
. Five

2 Main type of transport system are.

. Schools

. Houses

. Industries
. Parks

3 Pakistan has enough varieties of raw material to devlop various.

. Sports industry
. cement industry
. Textile industry
. Steel industry

4 This industry of Pakistan flourished from cottage industry

A

B

C

D

A

B

C

D

A

B

C

D

A

B

C

D

A. Marketing

5 Through the development of software technology , Pakistna has been able to establish B. Media style
better. C. Distance clarning
D. All of these
A
B
C
D
A
B
C
D
A
B
C
D
A
B
Cc
D
A
B
C
D

. Pre capita income
. Daily income

. Monthly income

. Yearly income

6 It is a national income divided by ppulation size.

. Ginning

. haresting
. Weaving
. Spinning

7 It is the production of cloth from yarn.

. Weaving
. Growing

. Spinning
. ginning

8 The processing of making yarn from raw cotton is called

. Spinning

. Weaving

. ginning

. harvesting

9 It si to separate seeds from cotton bolls.

. 10%
. 20%
.30%
. 40%

10 How much percentage of all exports of Pakistan are cotton products.



